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QUESTION 1

George is the CIO for the US Department of Defense. George\\'s education and work experience cover everything from
Systems Administration to developing complex software programs for the government. With many new federal
regulations put forth by the US Department of Homeland Security, every single aspect of George\\'s control must be
secured and protected from attack. George is currently looking to purchase customized communications software for
sending instant messages to branches of the DoD all over the world.

What set of security standards should George ensure the software he purchases be developed under?

A. Common Criteria

B. 1SO 199776

C. Code Containment

D. Code Access Security

Correct Answer: A

QUESTION 2

What would be the output of the following script?
import java.net*;

public class ExampleByName {

public static void main(String[] args) {

try

{

InetAddress.getByName(www.microsoft.com");
System.out.printin(address);

}

catch (UnKnownHostException e) {
System.out.printin("Could not find www.microsoft.com")
}

}

A. IP address of www.microsoft.com
B. Hexadecimal equivalent for www.microsoft.com

C. Tracert information to the www.microsoft.com
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D. Whois information for www.microsoft.com

Correct Answer: A

QUESTION 3

When the following code is compiled and run is a program what size block will be used to hold name string?
#include

int main(int argc, char **argv)

{

char target[5]="TTTT";

char attacker[11]="AAAAAAAAAA";
strcpy(attacker, " DDDDDDDDDDDDDD");
printf("% \n", target);

return O;

}

A. 16 bytes

B. 28 bytes

C. 32 bytes

D. 8 bytes

Correct Answer: C

QUESTION 4
Victor is creating an online shopping cart for his company that will accept credit cards as payment.

What protocol that provides open encryption and security specifications designed to protect credit card transactions
should Victor use?

A. PET
B. DES
C.SET
D. GRAWP

Correct Answer: C
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QUESTION 5

Jonathan is creating an XML document and needs to sign data streams. In his code, Jonathan creates a signature node
that is contained within the signed datastream. What type of signature signing has Jonathan employed here?

A. Enveloping
B. Attached
C. Detached
D. Enveloped

Correct Answer: D
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